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3t + c = 220

3t + 2c = 320

Linear Simultaneous Equations

What is the difference?
In order to find the difference, we need to find a way to eliminate one of the 

variables. In this example, subtracting will eliminate t from our equation.
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12 -

c = 100

Substitute c into equation 1

3t + 100 = 220

and solve

3t = 220 - 1003t = 120

t = 120 ÷ 3t = 40



4y + 3𝑥 = 15

4y + 𝑥 = 13

Linear Simultaneous Equations
1

2

1 2-

2𝑥 = 2

Substitute 𝑥 into equation 2

4y + 1 = 13

𝑥 = 2 ÷ 2 𝑥 = 1 

4y = 13 - 14y = 12

y = 12 ÷ 4 y = 3 

SSS
“If the Signs are the Same, you 
Subtract"









Traffic light your work today.

Thumbs down- I don’t understand it

Thumbs across- I understand some of it

Thumbs up- I understand all of it



A further task will be on the website for you to 
complete later today – one merit for all who do 



